End of last line here should have

p-22, L.1 £b. AR

p.82, L.9 3ng]
p-110, L.3 of text vertices
p.112, L.5 occurs}
p.112, L.7 £b. and
p-122, L.13 f.h. conditions
p.148, L.2 f.b. (.03)¢5
p-152, L.2 of caption is

p412; L.7 f.b. endpoint

The last line from bottom of pages 299 and 389 is a tiny bit too low and con-
sequently are missing the bottom half of a symbol (see "(10.73))" on p. 299 and
"u," and "OWp," on p.389. The correction on p.22 is so trivial that I would not
make it, but would leave p. 22 as it is.



